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 8

          ‘   ’  26
      . 2023-24     

         .  600    -
             .    

       , ,  ,    .

  

    ?
8        

       -
   

8        
  

8 0    -   
8    ‘0’    

      -  
8 0      -    

,    
8        

-    
8       

-   
8 ‘    ’  

 -    
8          

       
 

8 √2       
-    

8 √2       
 -   

8       √3, √5, √6,
√10, √11, √12, √13, √14, √15,
√17      
 

8         
π   . 2π r:2r..= π

8 π       
     

8 π   4     
    -  

8 π  32     
       
(π =3.1416)-  

8 π= √10       
8         

      
-  

8       
8          

    -  
-2 (12 )

8        
-      .
 ,      
.   - 6174

8   14 π    
.      
 14 (1879).

8 .. 800  ‘  ’
       
   .

8      
       
   -    

8       
        
- 

8  ,     
      
   - 

    
8    - 

1729= 123+13 = 103+93 (  ,
    
      )

8    ,  
 ,      
    - 
    

8 2011      
  

8 2012      
.     126 
 .

8     -
  22

8         
 - Ahims.  
-  

8  a/b   
.  a, b    
  .     
 .

8          
  -   

8      - 
   (  ‘’
      
 )

8      - 
  

8       
-    ( )

8         
   -   

8       
 -   

8          
 Z     
‘Zahlen’     . Zahlen

 ‘ ’  .

8          
  -  -2

8    -  
 

8        
 - A Book of Jews

8      -   
8     ‘ ’ 

      
.

8      - 
8         

    - 
8 ‘The Elements’   

  - 
8         13 

         
 - The Elements

8      ‘5’   
   .

8    -       
        ‘ 
 ’ .

8       ,
  ,     

8 .. 300   
   ,   , 
,  ,     
  .

8 .. 3000  2000   
          
      .

8        
     
  -   

8   -   , , 
  

8      -  (
   ‘n’     )

8  ,    - 
   

8     -  
8        -

  
8        -
    

8     -  
8       - 
8     (   ) 

 -  

π = 3927
1250

8      
   - 
  -2

    
 -    

Σn = 

Σn2 = 

n(n+1)
2

8

n(n+1)(2n+1)
6

8

      
  -  

Σn3 = 
n2(n+1)2

4 

8  

       .
8 √S(S-a)(S-b)(S-c)  

   ,   
    ,    
  .

1
2(A)= XbXh 

 
 ,   ,



 



1.   10a+b  .
 10b+a   . 
  9   
     ?

1) a+b   2) ab    3) a-b    4) 2ab

   = (10a+b)-(10b+a)

= 10a+b-10b-a
= 9a-9b

     = 
-9(a-b)÷9= a-b

2. A2-15 =5A  A =?
1) 7  2) 9   3) 6   4) 8


A2-15= 5A
=> A2-5A= 5
=> 10XA+2X1-(5X10+AX1)= 15
=> 10XA+2-50-A= 15
=> 9A=63
=> A= 7

3. 5A1-23A = 325  A ?
1) 8   2) 6   3) 9   4) 7


5A1-23A= 325
(500+10A+1)-(200+30+A)=
325

271+9A= 325
=> A= 6

4. 54Z  5   2, 3
  1 .  Z
?

1) 7   2) 2   3) 4   4) 8


54Z 5    Z  0
 5 .   2  Z

 2  7 .
=> 54Z 3    Z  3
 6  9 .   1
 Z  4  7 .

=>     A= 7
5. A679B     

72  A, B  ?
1) 3, 4   2) 3, 6   3) 3, 7   4) 3, 2


8   72    

8, 9    .
=> A679B 79B 8   
B  2  .

=>    = 
A+6+7+9+B
= A+6+7+9+2= 24+A

8  9    A 
 3 .

=> A= 3, B= 2 
6. 345A7 3    

A   ?
1) 1   2) 4   3) 3   4) 2


8    = 

3+4+5+A+7= 19+A
= 1+9+A
= 10+A
= 1+0+A
= 1+A

 3    A  2 
 8 .

A  = 2
7. 2791A 9    A 

 ?
1) 8   2) 11   3) 12   4) 9


   

= 2+7+9+1+A= 19+A
= 1+9+A
= 10+A
= 1+A
 9    A  
8  .

8.     4A3  
   984   13B7
     . 
 11  (A+B) 
?
1) 20   2) 30      3) 10     4) 5


4A3+984= 13B7
13B7 11    
B  9 .
4A3+984= 13B7
13B7 11    B  9
.
4A3+984= 1397
4A3= 1397-984= 413
A= 1, A+B= 9+1= 10
   11  .

: = 0, 11, 22, 33.....  
 .

9. 4B  5   1 .
 B  ?
1) 1  2  2) 1  6
3) 2  6   4) 0  1


4B 5   B  0  5

.   1 .  B
 1  6 .

    (Text Book Problems)


